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LMZ. In a study of 1,000 people with a particular iliness, 200 died within one year of diagnosis. Calculate a

95% (linear) confidence interval for the one-year empirical survival function.
(A} (0.745,0.855)

(B)  (0.755, 0.845)

(C)  {0.765, 0.835)

4
(D)  (0.775,0.825) lp 7.8 FQ,LQ,J\ €
=196

(E)  (0.785, 0.815)
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LM.5. na study of workplace retention for a large employer, the following grouped data were collected from

100 new entrants.

Time to exit Number of employees
0 -5 years 28

5~ 10 years 19

10 - 20 years 15

20 - 30 years 30

Over 30 years 8

Calculate the probability that an empioyee exits within the first 12 years, using the ogive empirical
distribution function.
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